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• lower bound on f☒

• Duality : Lagrangian , dual function .

dual problem

• States 's conditions
, strong duality

• KKT conditions .
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This is called the dual problem ( dual LP )
• Number of variables in the dual problem = no . of

constraints in the primal problem .
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standard form problem ( not necessarily convene)
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Lagrange dual function :
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Lagrange dual problem :
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EMAIL : Quadratic program
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Quadratic in 2 variables

p☒=g*



strong duality :
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Ende : support vector machine classifier
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Doxy gag :
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For a problem with strong duality ( i. e. ,
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¥6 : SVM
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